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=  OFEHMXE) FI+ Hzde |79 XXM B2

1. SN EAHlE 6.77 1.27 2.79

2. QH=K[HlE 104.17 73.12 103.80

3. &2|XHFH[E 0.00 7.08 0.05

I. AEATY (ZE|XFHESHS) 0.00 0.21 -25.22
4. D2[KHBAISH|S 0.00 3.01 0.03

5. s RsFHIE 5.63 22.60 5.96

6. S7|g85AHIE 0.00 37.78 91.28

7-1. K|2Ml=UHE 12.10 23.98 8.82
ALM==R(SEE) 3.25 497 -0.12

7-2. M|2l+=gH|& 3.06 3.92 3.27
(MIel=RSLE) -3.80 1.95 499

8. X|LME+E 98.06 97.50 97.95

REM TR 0S) 0.9929 0.9952 0.99

9-1. X|MIK| A2 [H|E 0.30 1.13 0.27

R RILMHHUSHE) 37.97 15.62 2222
9-2. M|el=Rix|Etate|H|E 1.68 0.84 1.50

(Ml SRS ZE) -2.64 6.41 12.34

10. X[HEZSH|E 10.84 5.89 12.58
RHEEFSUE) 11.07 5.35 6.50

1. A==z E 0.00 2.31 0.20
(EXEAETEFELE) 7.27 0.85 38.71

12. X4l ZH|H|E 25.30 10.60 26.25

X AH IS ZHE) 14.38 5.81 9.29

13. M| 10153 100.95 100.24

M AEA (Ml==2XHH| 8714 ) 1.049 1.067 1.08
14. 0| =8%UH|g 11.88 542 6.59
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